

County Distribution Detail Report through 03/02/2018

Aurora

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	1,219	1,868	12	3,099	\$3,873.75	\$89.83	\$3,783.92	0.70	\$2,648.74
							Entity Total	:	\$2,648.74
							Adjustment	:	\$0.00
							Total Amou	int:	\$2,648.74
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	4,315	11,704	96	16,115	\$20,143.75	\$420.89	\$19,722.86	0.70	\$13,806.00
							Entity Total	:	\$13,806.00
							Adjustment	:	\$0.00
							Total Amou	int:	\$13,806.00
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	946	1,070	4	2,020	\$2,525.00	\$58.19	\$2,466.81	0.70	\$1,726.77
							Entity Total	:	\$1,726.77
							Adjustment	:	\$0.00
							Total Amou	int:	\$1,726.77
Bon Homme									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	2,253	3,859	10	6,122	\$7,652.50	\$153.50	\$7,499.00	0.70	\$5,249.30
							Entity Total:		\$5,249.30
							Adjustment:		\$0.00
							Total Amour	nt:	\$5,249.30

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	11,026	19,719	221	30,966	\$38,707.50	\$833.71	\$37,873.79	0.70	\$26,511.65
11/2017	0	0	0	0	\$0.00	\$0.82	\$-0.82	0.70	\$-0.57
12/2017	0	7	0	7	\$8.75	\$0.04	\$8.71	0.70	\$6.10
							Entity Total: Adjustment: Total Amour		\$26,517.18 \$0.00 \$26,517.18

Brown

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	11,027	25,347	180	36,554	\$45,692.50	\$945.21	\$44,747.29	0.70	\$31,323.10
12/2017	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
							Entity Total Adjustment		\$31,323.98 \$0.00
							Total Amou		\$31,323.98

Brule

	Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
	1/2018	2,844	3,539	7	6,390	\$7,987.50	\$167.17	\$7,820.33	0.70	\$5,474.23
								Entity Total:		\$5,474.23
								Adjustment:		\$0.00
								Total Amount	t:	\$5,474.23
_										

Buffalo

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	620	411	1	1,032	\$1,290.00	\$25.82	\$1,264.18	0.70	\$884.93
							Entity Total	:	\$884.93
							Adjustment	:	\$0.00
							Total Amou	nt:	\$884.93
Butte									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	2,805	6,117	17	8,939	\$11,173.75	\$232.79	\$10,940.96	0.70	\$7,658.67

12/2017	0	3	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
							Entity Total	:	\$7,661.30
							Adjustment	:	\$0.00
							Total Amou	nt:	\$7,661.30
Campbell									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	801	1,412	8	2,221	\$2,776.25	\$55.54	\$2,720.71	0.70	\$1,904.50
							Entity Total	:	\$1,904.50
							Adjustment	:	\$0.00
							Total Amou	nt:	\$1,904.50
Charles Mix							Total Amou	nt:	\$1,904.50
Charles Mix Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Total Amou Net Surcharge	nt: Entity Percent	\$1,904.50 Entity Amount
	Telecom Lines 3,059	Wireless Lines		Total Lines 8,287	Surcharge \$10,358.75	Admin Fee \$211.26		Entity	
Reporting Period			Lines		-		Net Surcharge	Entity Percent	Entity Amount
Reporting Period	3,059	5,214	Lines 14	8,287	\$10,358.75	\$211.26	Net Surcharge \$10,147.49	Entity Percent 0.70 0.70	Entity Amount \$7,103.24
Reporting Period	3,059	5,214	Lines 14	8,287	\$10,358.75	\$211.26	Net Surcharge \$10,147.49 \$3.75	Entity Percent 0.70 0.70	Entity Amount \$7,103.24 \$2.63
Reporting Period	3,059	5,214	Lines 14	8,287	\$10,358.75	\$211.26	Net Surcharge \$10,147.49 \$3.75 Entity Total	Entity Percent 0.70 0.70	Entity Amount \$7,103.24 \$2.63 \$7,105.87

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	34	2,140	0	2,174	\$2,717.50	\$57.61	\$2,659.89	0.70	\$1,861.92
							Entity Total	:	\$1,861.92
							Adjustment	:	\$0.00
							Total Amou	nt:	\$1,861.92

City of North Sioux City, Un

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	1,175	2,438	82	3,695	\$4,618.75	\$120.58	\$4,498.17	0.70	\$3,148.72
11/2017	0	0	0	0	\$0.00	\$0.36	\$-0.36	0.70	\$-0.25
							Entity Total	:	\$3,148.47
							Adjustment	::	\$0.00

Total Amount:

\$3,148.47

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	5,155	21,089	1,256	27,500	\$34,375.00	\$768.14	\$33,606.86	0.70	\$23,524.80
							Entity Total:		\$23,524.80
							Adjustment	:	\$0.00
							Total Amou	int:	\$23,524.80
Clark									

CI	а	r	ŀ	
-	-	•	-	1

City of Sioux Falls, Lincoln (

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	1,544	2,445	10	3,999	\$4,998.75	\$105.01	\$4,893.74	0.70	\$3,425.62
							Entity Total:		\$3,425.62
							Adjustment:		\$0.00
							Total Amoun	t:	\$3,425.62

Clay

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	1,907	7,099	100	9,106	\$11,382.50	\$238.96	\$11,143.54	0.70	\$7,800.48
12/2017	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
							Entity Total Adjustment		\$7,801.36 \$0.00
							Total Amou	nt:	\$7,801.36

Codington

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	8,268	18,445	170	26,883	\$33,603.75	\$713.77	\$32,889.98	0.70	\$23,022.99
							Entity Total:		\$23,022.99
							Adjustment:		\$0.00
							Total Amoun	t:	\$23,022.99
Corson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	1,381	550	5	1,936	\$2,420.00	\$49.70	\$2,370.30	0.70	\$1,659.21
							Entity Total:		\$1,659.21

Adjustment: \$0.00 Total Amount: \$1,659.21

Custer

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	3,715	5,145	30	8,890	\$11,112.50	\$245.33	\$10,867.17	0.70	\$7,607.02
12/2017	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
							Entity To	otal:	\$7,607.90
							Adjustm	ent:	\$0.00
							Total An	nount:	\$7,607.90

Davison

Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5,219	13,911	227	19,357	\$24,196.25	\$500.14	\$23,696.11	0.70	\$16,587.28
0	0	0	0	\$0.00	\$3.02	\$-3.02	0.70	\$-2.11
0	3	0	3	\$3.75	\$3.36	\$0.39	0.70	\$0.27
						-		\$16,585.44 \$0.00
						-		\$16,585.44
	5,219 0	5,219 13,911 0 0	Lines 5,219 13,911 227 0 0 0	Lines 5,219 13,911 227 19,357 0 0 0 0	Lines 5,219 13,911 227 19,357 \$24,196.25 0 0 0 0 \$0.00	Lines 5,219 13,911 227 19,357 \$24,196.25 \$500.14 0 0 0 0 \$3.02	Lines Lines Solution S	Lines Percent 5,219 13,911 227 19,357 \$24,196.25 \$500.14 \$23,696.11 0.70 0 0 0 0 \$0.00 \$3.02 \$-3.02 0.70

Day

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	2,372	3,517	8	5,897	\$7,371.25	\$150.61	\$7,220.64	0.70	\$5,054.45
							Entity Total:		\$5,054.45
							Adjustment:		\$0.00
							Total Amoun	t:	\$5,054.45

Deuel

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	2,085	2,930	6	5,021	\$6,276.25	\$125.92	\$6,150.33	0.70	\$4,305.23
							Entity Total:		\$4,305.23
							Adjustment:		\$0.00
							Total Amoun	t:	\$4,305.23

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	1,339	2,179	5	3,523	\$4,403.75	\$89.69	\$4,314.06	0.70	\$3,019.84
							Entity Total	:	\$3,019.84
							Adjustment	:	\$0.00
							Total Amou	int:	\$3,019.84
Edmunds									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	1,473	2,801	10	4,284	\$5,355.00	\$107.52	\$5,247.48	0.70	\$3,673.24

Entity Total:	\$3,673.24
Adjustment:	\$0.00
Total Amount:	\$3,673.24

\$6,571.91

Total Amount:

Fall River

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	3,505	4,137	22	7,664	\$9,580.00	\$194.06	\$9,385.94	0.70	\$6,570.16
12/2017	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
							Entity Total Adjustment		\$6,571.91 \$0.00

Faulk

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	962	1,428	5	2,395	\$2,993.75	\$72.12	\$2,921.63	0.70	\$2,045.14
							Entity Total:		\$2,045.14
							Adjustment:		\$0.00
							Total Amour	nt:	\$2,045.14

Grant

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	2,444	5,081	14	7,539	\$9,423.75	\$189.55	\$9,234.20	0.70	\$6,463.94
12/2017	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88

Adjustment: \$0.00 Total Amount: \$6,464.82

Gregory

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	1,970	3,386	14	5,370	\$6,712.50	\$144.68	\$6,567.82	0.70	\$4,597.47
							Entity Total:		\$4,597.47
							Adjustment:		\$0.00
							Total Amour	nt:	\$4,597.47
Haakon									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	1,105	1,383	5	2,493	\$3,116.25	\$62.36	\$3,053.89	0.70	\$2,137.72
							Entity Total:		\$2,137.72
							Adjustment:		\$0.00
							Total Amour	nt:	\$2,137.72

Hamlin

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	1,948	3,581	7	5,536	\$6,920.00	\$138.61	\$6,781.39	0.70	\$4,746.97
12/2017	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
							Entity Total: Adjustment:		\$4,748.72 \$0.00
							Total Amou	nt:	\$4,748.72

Hand

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	1,283	2,695	12	3,990	\$4,987.50	\$102.28	\$4,885.22	0.70	\$3,419.65
							Entity Total:		\$3,419.65
							Adjustment:		\$0.00
							Total Amoun	t:	\$3,419.65
Hanson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

1/2018	1,006	2,954	16	3,976	\$4,970.00	\$103.22	\$4,866.78	0.70	\$3,406.75
							Entity Total	:	\$3,406.75
							Adjustment	:	\$0.00
							Total Amou	nt:	\$3,406.75
Harding									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	746	848	1	1,595	\$1,993.75	\$50.19	\$1,943.56	0.70	\$1,360.49
							Entity Total	:	\$1,360.49
							Adjustment	:	\$0.00
							Total Amou	nt:	\$1,360.49
Hughes									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	4,926	14,259	220	19,405	\$24,256.25	\$525.24	\$23,731.01	0.70	\$16,611.71
12/2017	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
							Entity Total	:	\$16,613.46
							Adjustment	:	\$0.00
							Total Amou	nt:	\$16,613.46
Hutchinson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	1,844	6,525	40	8,409	\$10,511.25	\$235.29	\$10,275.96	0.70	\$7,193.17
							Entity Total	:	\$7,193.17
							Adjustment	:	\$0.00
							Total Amou	nt:	\$7,193.17
Hyde									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	761	1,057	1	1,819	\$2,273.75	\$46.72	\$2,227.03	0.70	\$1,558.92
							Entity Total	:	\$1,558.92
							Adjustment	:	\$0.00
							Total Amou	nt:	\$1,558.92

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	702	795	1	1,498	\$1,872.50	\$37.48	\$1,835.02	0.70	\$1,284.51
							Entity Total:		\$1,284.51
							Adjustment:		\$0.00
							Total Amour	nt:	\$1,284.51
Jerauld									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	783	1,463	0	2,246	\$2,807.50	\$57.39	\$2,750.11	0.70	\$1,925.08
							Entity Total:		\$1,925.08
							Adjustment:		\$0.00
							Total Amou	nt:	\$1,925.08
Jones									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	577	633	6	1,216	\$1,520.00	\$30.43	\$1,489.57	0.70	\$1,042.70
							Entity Total:		\$1,042.70
							Adjustment:		\$0.00

Kingsbury

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	1,512	3,963	28	5,503	\$6,878.75	\$141.15	\$6,737.60	0.70	\$4,716.32
							Entity Total:		\$4,716.32
							Adjustment:		\$0.00
							Total Amount	::	\$4,716.32
Lake									

\$1,042.70

Total Amount:

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	3,106	9,698	257	13,061	\$16,326.25	\$346.90	\$15,979.35	0.70	\$11,185.55
							Entity Total	:	\$11,185.55
							Adjustment	:	\$0.00

Total Amount: \$11,185.55

Lawrence

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	8,527	15,937	155	24,619	\$30,773.75	\$635.28	\$30,138.47	0.70	\$21,096.93
12/2017	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
							Entity Tota	:	\$21,098.68
							Adjustment	::	\$0.00
							Total Amou	int:	\$21,098.68
Lincoln									

Reporting Period Telecom Lines Wireless Lines VOIP Total Lines Surcharge Admin Fee Net Surcharge Entity Entity Amount Lines Percent 1/2018 4,748 21,416 27,573 \$34,466.25 \$782.00 \$33,684.25 \$23,578.98 1,409 0.70 Entity Total: \$23,578.98 Adjustment: \$0.00 **Total Amount:** \$23,578.98

Lyman

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	1,346	1,769	1	3,116	\$3,895.00	\$85.19	\$3,809.81	0.70	\$2,666.87
12/2017	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
							Entity To		\$2,667.75
							Adjustme	ent:	\$0.00
							Total Am	ount:	\$2,667.75

Marshall

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	1,988	2,668	28	4,684	\$5,855.00	\$133.37	\$5,721.63	0.70	\$4,005.14
12/2017	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
							Entity Total:		\$4,006.02
							Adjustment:		\$0.00
							Total Amour	ıt:	\$4,006.02
McCook									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

1/2018	2,596	4,104	13	6,713	\$8,391.25	\$168.23	\$8,223.02	0.70	\$5,756.11
							Entity To	otal:	\$5,756.11
							Adjustm	ent:	\$0.00
							Total An	nount:	\$5,756.11
McPherson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	1,133	1,542	1	2,676	\$3,345.00	\$65.98	\$3,279.02	0.70	\$2,295.31

Entity Total	: \$2,295.31
Adjustment	: \$0.00
Total Amou	nt: \$2,295.31

Meade

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	4,127	16,319	291	20,737	\$25,921.25	\$550.41	\$25,370.84	0.70	\$17,759.59
11/2017	0	0	0	0	\$0.00	\$0.07	\$-0.07	0.70	\$-0.05
							Entity Total	:	\$17,759.54
							Adjustment	:	\$0.00
							Total Amou	nt:	\$17,759.54

Mellette

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	637	640	0	1,277	\$1,596.25	\$31.95	\$1,564.30	0.70	\$1,095.01
							Entity Total:		\$1,095.01
							Adjustment:		\$0.00
							Total Amoun	t:	\$1,095.01
Miner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	1,057	1,611	6	2,674	\$3,342.50	\$67.48	\$3,275.02	0.70	\$2,292.51
							Entity Total:		\$2,292.51
							Adjustment:		\$0.00
							Total Amoun	t:	\$2,292.51

Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
49,457	140,637	1,947	192,041	\$240,051.25	\$5,059.05	\$234,992.20	0.70	\$164,494.54
0	0	0	0	\$0.00	\$9.58	\$-9.58	0.70	\$-6.71
0	17	3	20	\$25.00	\$7.24	\$17.76	0.70	\$12.43
						Adjustment	:	\$164,500.26 \$0.00 \$164,500.26
	49,457 0	49,457 140,637 0 0	Lines 49,457 140,637 1,947 0 0 0	Lines 49,457 140,637 1,947 192,041 0 0 0 0	Lines 49,457 140,637 1,947 192,041 \$240,051.25 0 0 0 0 \$0.00	Lines 249,457 140,637 1,947 192,041 \$240,051.25 \$5,059.05 0 0 0 0 \$0.00 \$9.58	Lines C G <td>Lines Percent 49,457 140,637 1,947 192,041 \$240,051.25 \$5,059.05 \$234,992.20 0.70 0 0 0 0 \$0.00 \$9.58 \$-9.58 0.70</td>	Lines Percent 49,457 140,637 1,947 192,041 \$240,051.25 \$5,059.05 \$234,992.20 0.70 0 0 0 0 \$0.00 \$9.58 \$-9.58 0.70

Moody

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	1,562	4,416	15	5,993	\$7,491.25	\$175.46	\$7,315.79	0.70	\$5,121.05
							Entity Total:		\$5,121.05
							Adjustment:		(\$4,901.22)
							Total Amount	t:	\$219.83

Pennington

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	28,546	73,424	1,537	103,507	\$129,383.75	\$2,746.49	\$126,637.26	0.70	\$88,646.08
11/2017	0	0	0	0	\$0.00	\$7.60	\$-7.60	0.70	\$-5.32
12/2017	0	6	2	8	\$10.00	\$9.91	\$0.09	0.70	\$0.06
							Entity Total:	Entity Total:	
							Adjustment	:	\$0.00
							Total Amou	nt:	\$88,640.82
Perkins									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	1,859	2,305	6	4,170	\$5,212.50	\$114.04	\$5,098.46	0.70	\$3,568.92
							Entity Total:		\$3,568.92
							Adjustment:		(\$1,497.03)
							Total Amour	nt:	\$2,071.89
Potter									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

1/2018	1,372	1,729	4	3,105	\$3,881.25	\$77.64	\$3,803.61	0.70	\$2,662.53
12/2017	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
							Entity Total:		\$2,663.41
							-		
							Adjustment:		\$0.00
							Total Amount	:	\$2,663.41
Poborto									

Roberts

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	4,033	4,637	10	8,680	\$10,850.00	\$238.58	\$10,611.42	0.70	\$7,427.99
12/2017	0	3	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
							Entity Tot	Entity Total:	
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$7,430.62

Sanborn

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	14	2,792	23	2,829	\$3,536.25	\$71.91	\$3,464.34	0.70	\$2,425.04
							Entity Total:		\$2,425.04
							Adjustment:		\$0.00
							Total Amount	:	\$2,425.04

Spink

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	2,137	4,551	8	6,696	\$8,370.00	\$168.12	\$8,201.88	0.70	\$5,741.32
							Entity Total:		\$5,741.32
							Adjustment:		\$0.00
							Total Amoun	t:	\$5,741.32
Stanley									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	791	2,139	14	2,944	\$3,680.00	\$76.22	\$3,603.78	0.70	\$2,522.65

Entity Total:

Adjustment:

Total Amount:

\$2,522.65

\$2,522.65

\$0.00

Sully

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	798	1,173	1	1,972	\$2,465.00	\$49.32	\$2,415.68	0.70	\$1,690.98
							Entity Total:		\$1,690.98
							Adjustment:		\$0.00
							Total Amount	:	\$1,690.98

Todd

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	0	9	1	10	\$12.50	\$0.58	\$11.92	0.70	\$8.34
							Entity Total:		\$8.34
							Adjustment		\$0.00
							Total Amou	nt:	\$8.34

Tripp

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	2,797	3,819	5	6,621	\$8,276.25	\$166.20	\$8,110.05	0.70	\$5,677.04
							Entity Total:		\$5,677.04
							Adjustment:		\$0.00
							Total Amour	it:	\$5,677.04

Turner

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	2,502	6,011	15	8,528	\$10,660.00	\$215.34	\$10,444.66	0.70	\$7,311.26
							Entity Total:		\$7,311.26
							Adjustment:		\$0.00
							Total Amour	nt:	\$7,311.26

Union

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	3,567	10,202	396	14,165	\$17,706.25	\$426.29	\$17,279.96	0.70	\$12,095.97
11/2017	0	0	0	0	\$0.00	\$3.55	\$-3.55	0.70	\$-2.49
12/2017	0	0	0	0	\$0.00	\$4.45	\$-4.45	0.70	\$-3.12

	Entity Total:	\$12,090.36
	Adjustment:	\$0.00
	Total Amount:	\$12,090.36
Walworth		

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	2,350	3,550	70	5,970	\$7,462.50	\$149.95	\$7,312.55	0.70	\$5,118.79
							Entity Total:		\$5,118.79
							Adjustment:		\$0.00
							Total Amoun	t:	\$5,118.79

Yankton

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	5,916	15,034	120	21,070	\$26,337.50	\$537.10	\$25,800.40	0.70	\$18,060.28
12/2017	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
							Entity Total:		\$18,062.03
							Adjustment:		\$0.00
							Total Amour	nt:	\$18,062.03
Totals	239,622	571,328	9,209	820,159	\$1,025,198.75	\$ 21,786.74	\$ 1,003,412.01		